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ENGLISH VERSION

Instructions : (1) Give answer of all the questions.
(2) Figures on right side show mark of each question.

1 J.D.S. company needs a generator costing Rs. 1,00,000. 20
For this purpose the company has the following two options :
Option-1 : Buying the generator by taking loan of

Rs. 1,00,000 repayable in five equal
installments of Rs. 20,000 each along with
interest at the rate of 18% per annum.
Option-2 : Leasing the generator for which annualize
lease rent is Rs. 30,000 up to five years. The
lessor charge one percentage (1%) of the cost
of generator as processing fees in the first
year.
As a tax consultant advice the company management which
option should be accepted? Additional information is following:
(1) Corporate tax rate i1s 30%. Disregard surcharge and
education cess.
(2) Present value of Rs. 1 for five years is as follows :

Year 1 2 3 4 5
PV. 10909 |0.826 |10.751]0.683|0.621
(3) Rate of depreciation is 25%.

OR
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1 V.H.S. Company Ltd. manufactures "Computer Game" 20
(A x N). For required components "X" of computer game
(A x N) company has the options to either make or buys
from the market.
The following detail are available in this reference.
(1) The component "X" will be manufacture on new
machinery costing Rs. 2,00,000. Life of machinery is
10 years.
(2) Depreciation rate is 25% on written down value.
(3) Income tax rate is 30%.
(4) Discount rate is 10%.
(5) Other details for production :
(A) Every year company makes 10,000 components
and for this total material required 50,000 kgs.
Material cost i1s Rs. 20 per kg.
(B) Total labour hours are required 50,000. Labour
charge 1s Rs. 1.85 per hour.
(C) Forman's salary Rs. 20,000 per month.
(D) Other variable overheads Rs. 14,000 per month.
This components "X" is available in the market at
Rs. 160.
From the above particulars give your advice to the
company whether to purchase the component from the
market or to manufacture?
Present value factor at 10% discount rate is follow :
Year 1 2 3 4 5 6 7 8 9 10
PV.10.90910.826(0.75110.683]10.621[0.564 [0.513]10.467(0.424(0.386
2  From the following information of P.M. Company, 20

determine tax responsibility of the company :
PartiCulars .....coveeeiiiineneieeeenneceeeeeneececeeessececenens Amount (Rs.)
Amount credited to Profit and Loss Account :
Net Profit of the New Industrial Association

under new section 80IA .. ..ot 17,00,000
Gross Profit of the New Industrial Association

under section 10 (Tax Exempt Rs. 9,00,000)............ 10,00,000
Long term profit ... 3,00,000
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Amount debited to Profit and Loss Account :

New industrial Association expenses for U/S 10 ......... 7,00,000
Depreciation of Previous year written off in

CUTTENT VAT ..oeuniiitiiiiie et e e s 10,00,000
Business loss of Previous year written off in

CUTTENT VAT ..oeuniiitiiiiie et e e s 12,00,000
Current year depreciation .................ccccoocoiiiviieeeeeeeeennnn. 10,00,000
Penalties for breach of the law ....ooooovvmiiiiiiiieiiii. 1,00,000
Provision for Sales taX .....ooooooeieoieee e 3,00,000
Proposed dividend ............coooomiiiiiiiiii e 2,00,000

Additional information :

(1) Admissible depreciation Rs. 19,50,000.

(2) Net profit of Profit and Loss Account prepared by the
company Rs. 15,00,000.

(3) Do not carry forward loss and unabsorbed depreciation.

(4) Income tax rate 30%, surcharge 7%, and education cess
is 3%.

(5) For the calculation of Minimum Alternative Tax (M.A.T.)
rate of income tax is 18.5%, Education Cess is 3% and
books profit is Rs. 27,00,000.

OR

2  Kriva Co. Ltd. is a widely held company. The company 20
requires Rs. 50,00,000 for development of its business. This

amount can be received from the following ways :

Particulars Option - 1 Option - 2 Option - 3

(Rs.) (Rs.) (Rs.)
Equity shares 50,00,000 20,00,000 10,00,000
14% Debentures — 20,00,000 15,00,000
18% loan — 10,00,000 25,00,000

Expected profit before tax is 25%. The average past rate
of dividend paid is 20%. The income tax rate 30%, Surcharge
3% and tax on dividend 12.5%.
Which is the best option?
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3  Write a detailed note on minimum Alternative Tax (MAT). 15
OR

3 (A) State provisions of income tax about Residential 8
status of company.

(B) Explain about exemption and taxability of dividend. 7

4  Write short notes : (Any Three) 15
(1) Method of Tax Planning
(2) Difference between Tax Planning and Tax management
(3) Advantages of Tax Planning
(4) Tax Evision and Tax Avoidance

(5) Corporate Tax Structure
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